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B.Sc. (Pass) Semester 111 Exami_nation,
Nov. 2018

(Common with Subsidiary Paper of
B.Sc. (Hons.) Sem. I1I)

 CHEMISTRY

* Paperll
(Organic Chemistry)

TIME ALLOWED : THREE HOURS
Maximum Marks— 23
All the parts of one question should be answered at one

place in the answer-book. One complete question

should not be answered at different places in the
answer-book.

Attempt five questions in all, taking one question from
each Unit. Question No. ] carries 5 marks and
remaining four questions are of 41/2 marks each.
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1. (a)
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(b)

()

(b)

Explain Beer-Lambert’s law. What are its
limitations?
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Explain Woodward-Fieser’s law for conjugated

dienes. What is utility of this law, explain giving
suitable example.
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Write short notes on following:—

(i) Hypsochromic shift

(i) Hyperchromic shift

(iii) Hypochromic shift

(iv) Molar absorptivity.
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Find A . for each of the following compounds

_using Woodward Fieser's rule.
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(2)

(b)

(1)

(i1)

Jii)

() CH,=C~CH=CH,

cn,

Unrr I (3372 1T)

Discuss various types of molecular vibrations in
IR spectroscopy.
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What s fingerprint region? Explain its
Importance in IR spectroscopy.
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(a)

(b)

With the help & IR spectre-.upy how will y_ou
distinguish the compounds in the following
pairs:— ',
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() CH,CH,CHO and CH,=CH-CH,0OH

(i) CH;CH,CHO and C,H,-COCH,

(i) CH,CHO and C,H,OC,H,

(v) CH,COOH and CH3CQNH2

() CH,-CH-O-CH-CH,
| o
CH, CH,
and

CH,CH,CH,OCH,CH,CH,

IR spectrum of acetone gives two maxima due to
C-H vibration at 1360 cm™ and 3000 cm~'.

Identify the stretching and bending bonds.
Express the maxima in 4 units.
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Write short notes on following'--
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(a)

(b)
(c)
(d)

Oxymercuration

Hydration

je
Hydroboration-

Pinacol-pinacolone rearrangement.
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Oxidation of glycerol.
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How will- you obtain following from ethylene
glycol:—

(i) 1,4 dioxane

(i1) 1F0rmaldehyde

(iii) - Cellosolve?
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(ii) wriElEgs

(iii) ddrated |

UNIT IV (5TE IV)

’* 4. Write short notes on fbllowing:—
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(a)
(b)
(c)
(d)

Reimer-Ticmann reaction
Lcdercr-Mannasse reaction
Gattermann synthesis

Claisen rearrangement.
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Complete the following reactions:—

O CHJ_CH:*CH%

(1) s
200°C
s | NaOH
(). +HCHO —
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(i) 'HCIHCN
AlCL
oH
(iv)
Ho
(i) CH,CN+ZnCl +HC]
(i) H,0

(v)

- (b) Why are phenols stroﬁgcr acids thaﬁ alcohols?
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(c¢) Describe the effect of substituents on ac1d1ty of
phenJemes.
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5. How can 1chlﬁ'\thyl ether be 'pfepared in laboratory?
Give its reaction with the following:—
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(b)

(C) .

(@)
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(b)

co __

CH,COCI ;

cl, _

‘HCL. | :  1172,3/4,3/4,3/4,3/4
Discuss the mechanism- of acid and base

| catalyse.d cleavage of epox:des
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Write the full name, structure and apphcatmn of
MMPP. | |
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